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1 8007

2 0

3 739

6932 + 414 + 661 =

1 mark

504 × 0 =

1 mark

10 + = 749

1 mark
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4 4700

5 370

6 4.48

9400 ÷ 2 =

1 mark

+ 20 = 390

1 mark

2.38 + 2.1 =

1 mark
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7 60

8 48

9 7891

= 540 ÷ 9

1 mark

240 ÷ 5 =

1 mark

9788  −  1897 =

1 mark
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10 52810

11  50

12 880

5281 × 10 =

1 mark

350 ÷ 7 =

1 mark

8 × 11 × 10 =

1 mark
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13 120

14 29700

15 6543  

1440 ÷ 12 =

1 mark

30000 − 300 =

1 mark

= 727 × 9

1 mark
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16 0.227

17 12

18 3/4

2.27 ÷ 10 =

1 mark

396 ÷ 33 =

1 mark

1

2
+

1

4
=

1 mark
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19 33072

20 28210

21 6

636 × 52 =

1 mark

28.21 × 1000 =

1 mark

3
2

3
+ 2

1

3
=

1 mark
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22  of 18

23 4.534

24 1/8

3

4
24 =

1 mark

6 − 1.466 =

1 mark

1

2
 ÷ 4 =

1 mark
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25 7/12

26 9.563

27 % of 1350

1

3
+

1

4
=

1 mark

13 − 3.437 =

1 mark

75 1800 =

1 mark



1/25/24, 5:29 PM SATS - Key Stage 2 Arithmetic

https://mathsbot.com/primary/ks2 10/13

28 % of 60

29 19

30 % of 147.7

2 3000 =

1 mark

1539 ÷ 81 =

1 mark

70 211 =

1 mark
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31 11/56

32 2 13/15

33 18288

5

8
−

3

7
=

1 mark

3
1

5
−

1

3
=

1 mark

1524 × 12 =

1 mark
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34 2 2/5

35 9

36 540

6 − 3
3

5
=

1 mark

4 + 10 ÷ 2 =

1 mark

6

10
×900 =

1 mark
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